Balloons

There are 5 balloons in a packet. There are 18 packets in a box.
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1. How many balloons are there in 59 packets?

2. How many balloons are there in a box?

3. How many balloons are there in 7 boxes?

4. I need 65 balloons. How many packets do I need?

Fruit
Coconuts are 78p each



Bananas are £1.20 per kg
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Oranges are 25p each



Grapes are 90p per kg

1. How much are 2 coconuts and ½ a kg of bananas?

2. How much are 8 coconuts and 4½  kg of bananas?

3. How much are 16 coconuts and 5¼kg of bananas?

4. How much for 2kg of grapes, 3 coconuts and 3 oranges?

5. I have £1.50 to spend on oranges. How many can I buy?

6. I have bought 5 kg of fruit. It has cost me £5.40. How much did I spend on the bananas and grapes?
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Thinking of a number
1. Lucy thinks of a number she multiplies it by 7, adds 1, times the result by 2 and then divides by 10. She ends up with the number 10. What number did she start with?

2. Matthew thinks of a number he divides it by 3, multiplies by 17, takes away 13 and divides by 9. He ends up with 8. What number did he start with?

3. Lacey thinks of two numbers. One divides by the other to give 3. The product of these numbers is 48. What are the two numbers?
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Biscuits

1. George and Sam have some biscuits. Altogether they have 24 biscuits. Sam has three times as many biscuits as George. How many biscuits do they each have?
2. Kiera and Anna have some jaffa cakes. Anna has nine times as many as Kiera does. If Kiera has 32 jaffa cakes how many does Anna have?

3. Emma, James and Joe have some biscuits. Joe has twice as many as James but James has twice as many as Emma. If there are 28 biscuits altogether how many do they each have?

4. Robyn, Brianna, Freddie and Alex have some biscuits. Alex has 4 times as many biscuits as Brianna. Brianna has 3 times as many biscuits as Robyn. Freddie has one more biscuit than Alex does. If Brianna has 12 biscuits how many does each child have? How many do they have altogether?  
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Factors

1. Can you find all the factors of 30?

2. Can you find all the factors of 24 that are also factors of 72?

3. I multiply the two numbers below that do not have any factors. What is my result?

12

17

9

13

22

40  
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Matches

1. There are 130 matches in a box. I have 19 boxes. How many matches have I got?

2. I have a box of 560 matches. I share them out between myself and my six friends. How many matches do we each get?

3. In order to light a small bonfire I need to use 4 matches. In order to light a medium bonfire I need 9 matches and in order to light a large bonfire I need 21 matches. How many matches will I use in total if I want to light 6 small, medium and large bonfires?
4. An empty matchbox weighs 14grams. It is filled with 240 matches and now weighs 50grams. What is the weight of one match?

